



A q-analogue of a curious supercongruence of Guillera and Zudilin

Journal:	<i>Journal of Difference Equations and Applications</i>
Manuscript ID	GDEA-2018-0441.R1
Manuscript Type:	Original Article
Date Submitted by the Author:	15-Dec-2018
Complete List of Authors:	Guo, Victor J. W.; Huaiyin Normal University,
Keywords:	Wilf--Zeilberger method, q -WZ pair, q -binomial coefficients, cyclotomic polynomials
2010 Mathematics Subject Classification	11B65, 11F33, 05A10, 05A30, 65Q99

SCHOLARONE™
Manuscripts

A q -analogue of a curious supercongruence of Guillera and Zudilin

Victor J. W. Guo

School of Mathematical Sciences, Huaiyin Normal University, Huai'an 223300, Jiangsu, People's Republic of China
jwguo@hytc.edu.cn

Abstract. The following curious supercongruence of Guillera and Zudilin:

$$\sum_{k=1}^{p-1} (-1)^k \frac{(p+3k)2^k}{k} \binom{2k}{k} \equiv 8(1-2^{p-1}) \pmod{p^2} \quad \text{for any prime } p > 2$$

plays an important part in their proof of a “divergent” Ramanujan-type supercongruence. In this paper, we give a q -analogue of this supercongruence by using the q -WZ method twice. Meanwhile, we confirm a q -analogue of the mentioned “divergent” Ramanujan-type supercongruence, which was early conjectured by the author.

Keywords: Wilf–Zeilberger method; q -WZ pair; q -binomial coefficients; cyclotomic polynomials

2000 Mathematics Subject Classifications: 11B65, 11F33, 05A10, 05A30, 65Q99

1. Introduction

By using the Wilf–Zeilberger (abbr. WZ) method [13, 14], among other things, Guillera and Zudilin [2] proved the following supercongruence:

$$\sum_{k=0}^{\frac{p-1}{2}} \frac{(\frac{1}{2})_k^3}{k!^3} (3k+1)(-1)^k 2^{3k} \equiv (-1)^{\frac{p-1}{2}} p \pmod{p^3} \quad \text{for } p > 2. \tag{1.1}$$

Here and throughout the paper, the letter p always denotes a prime, and $(a)_n = a(a+1)\cdots(a+n-1)$ is the Pochhammer symbol.

In a previous paper, motivated by Guillera and Zudilin’s work [2], the author [4, Theorem 1.3] utilized the q -WZ method [9, 15] to give the following q -analogue of (1.1):

$$\sum_{k=0}^{\frac{p-1}{2}} (-1)^k [3k+1] \frac{(q; q^2)_k^3}{(q; q)_k^3} \equiv (-1)^{\frac{p-1}{2}} [p] q^{\frac{(p-1)^2}{4}} \pmod{[p]^3},$$

where the q -shifted factorial is defined by $(a; q)_0 = 1$ and $(a; q)_n = (1-a)(1-aq)\cdots(1-aq^{n-1})$ for $n \geq 1$, while the q -integer is defined as $[n] = 1 + q + \cdots + q^{n-1}$ (see [1]). Note

that two rational functions $A(q)$ and $B(q)$ are congruent modulo a polynomial $P(q)$ if the numerator of the reduced form of $A(q) - B(q)$ is divisible by $P(q)$ in the polynomial ring $\mathbb{Z}[q]$. For some other interesting q -congruences, we refer the reader to [3, 8, 10, 12].

Besides the WZ method, the following curious supercongruence

$$\sum_{k=1}^{p-1} (-1)^k \frac{(p+3k)2^k}{k} \binom{2k}{k} \equiv 8(1-2^{p-1}) \pmod{p^2} \quad \text{for } p > 2 \quad (1.2)$$

plays an important role in Guillera and Zudilin's proof of (1.1).

Let $\Phi_n(q)$ be the n -th cyclotomic polynomial. Let $\begin{bmatrix} M \\ N \end{bmatrix}$ be the q -binomial coefficients defined by

$$\begin{bmatrix} M \\ N \end{bmatrix} = \begin{cases} \frac{(q; q)_M}{(q; q)_N (q; q)_{M-N}} & \text{if } 0 \leq N \leq M. \\ 0 & \text{otherwise.} \end{cases}$$

In this paper, we shall give the following q -analogue of (1.2).

Theorem 1.1. *Let n be a positive odd integer. Then*

$$\sum_{k=1}^{n-1} (-1)^k \frac{[n+3k](-q^{n+1}; q)_{k-1}}{[2k]} \begin{bmatrix} 2k \\ k \end{bmatrix} \equiv 2 \left(q^{\binom{n}{2}} - (-q; q)_{n-1} \right) \pmod{\Phi_n(q)^2}. \quad (1.3)$$

It is clear that (1.2) follows from (1.3) by taking $n = p$ and $q = 1$. Note that (1.2) is a combination of the following two congruences [2, Lemma 4]:

$$\sum_{k=1}^{p-1} (-1)^k \frac{2^k}{k} \binom{2k}{k} \equiv \frac{4(1-2^{p-1})}{p} \pmod{p} \quad \text{for } p > 2, \quad (1.4)$$

$$3 \sum_{k=1}^{p-1} (-1)^k 2^k \binom{2k}{k} \equiv 4(1-2^{p-1}) \pmod{p^2} \quad \text{for } p > 2, \quad (1.5)$$

and (1.4) follows from a result of Sun and Tauraso [11, Theorem 1.2]. However, we did not find any q -analogues of (1.4) and (1.5). From (1.3), we can only deduce the following partial q -analogue of (1.5):

$$\sum_{k=1}^{n-1} (-1)^k \frac{[3k]}{[2k]} \begin{bmatrix} 2k \\ k \end{bmatrix} (-q; q)_{k-1} \equiv 0 \pmod{\Phi_n(q)} \quad \text{for odd } n.$$

We shall also prove the following q -analogue of (1.1), which was originally conjectured by the author [4, Conjecture 1.4].

Theorem 1.2. *Let n be a positive odd integer. Then*

$$\sum_{k=0}^{\frac{n-1}{2}} (-1)^k [3k+1] \frac{(q; q^2)_k^3}{(q; q)_k^3} \equiv (-1)^{\frac{n-1}{2}} [n] q^{\frac{(n-1)^2}{4}} \pmod{[n]\Phi_n(q)^2}. \quad (1.6)$$

It should be mentioned that the following similar q -congruence has already been obtained by the author [4, Theorem 1.3]: for odd n ,

$$\sum_{k=0}^{n-1} (-1)^k [3k+1] \frac{(q; q^2)_k^3}{(q; q)_k^3} \equiv (-1)^{\frac{n-1}{2}} [n] q^{\frac{(n-1)^2}{4}} \pmod{[n] \Phi_n(q)^2}. \quad (1.7)$$

We will prove (1.3) using the q -WZ method. Our proof is based on (1.7), which was also established by the author [4] via the q -WZ method. The proof of (1.3) is a little complicated, and may be considered as a q -analogue of Guillera and Zudilin's proof of (1.7). As far as we know, no other q -supercongruences are proved in such a way (using the q -WZ method twice). It would be interesting if the reader can find a new proof of (1.3).

We will prove (1.6) using the root of unity technique arising in a joint paper by the author and Zudilin [6]. Our proof of (1.6) is again based on (1.7).

2. Two lemmas

We give two preliminary results, which will be used in our proof of Theorem 1.1.

Lemma 2.1. *Let n be a positive odd integer. Then*

$$\sum_{k=0}^{\frac{n-3}{2}} \frac{q^{2k}}{[2k+1](-q; q^2)_k^2} \begin{bmatrix} 2k \\ k \end{bmatrix} \equiv (-1)^{\frac{n+1}{2}} \frac{(-q; q)_{n-1} q^{-\frac{(n-1)(n-3)}{4}} - q^{\frac{(n-1)(n+3)}{4}}}{[n]} \pmod{\Phi_n(q)}. \quad (2.1)$$

Proof. Noticing that $(q; q^2)_k \equiv (q^{1-n}; q^2)_k \pmod{\Phi_n(q)}$, we can write the left-hand side of (2.1) as

$$\sum_{k=0}^{\frac{n-3}{2}} \frac{q^{2k} (q; q^2)_k}{[2k+1] (q^2; q^2)_k} \equiv \sum_{k=0}^{\frac{n-3}{2}} \frac{q^{2k} (q^{1-n}; q^2)_k}{[2k+1] (q^2; q^2)_k} \pmod{\Phi_n(q)}. \quad (2.2)$$

The latter is nothing but a terminating basic hypergeometric series with one term missing,

$$\begin{aligned} \sum_{k=0}^{\frac{n-3}{2}} \frac{(q^{1-n}; q^2)_k (q; q^2)_k}{(q^2; q^2)_k (q^3; q^2)_k} q^{2k} &= -(-1)^{\frac{n-1}{2}} \frac{q^{-\frac{(n-1)(n-3)}{4}}}{[n]} + \sum_{k=0}^{\frac{n-1}{2}} \frac{(q^{1-n}; q^2)_k (q; q^2)_k}{(q^2; q^2)_k (q^3; q^2)_k} q^{2k} \\ &= -(-1)^{\frac{n-1}{2}} \frac{q^{-\frac{(n-1)(n-3)}{4}}}{[n]} + \frac{(q^2; q^2)_{\frac{n-1}{2}}}{[n] (q; q^2)_{\frac{n-1}{2}}} q^{\frac{n-1}{2}} \end{aligned} \quad (2.3)$$

by the q -Chu-Vandermonde summation formula (see [1, Appendix (II.6)]).

For any positive odd integer n , a special case of a q -analogue of Morley's congruence [8, (1.5)], due to Pan, gives

$$\frac{(q; q^2)_{\frac{n-1}{2}}}{(q^2; q^2)_{\frac{n-1}{2}}} = \left[\frac{n-1}{2} \right]_{q^2} \frac{1}{(-q; q)_{n-1}} \equiv (-1)^{\frac{n-1}{2}} q^{\frac{1-n^2}{4}} (-q; q)_{n-1} \pmod{\Phi_n(q)^2}. \quad (2.4)$$

Combining (2.2)–(2.4) and using the following congruence (see [5, Lemma 3.2])

$$(-q; q)_{n-1} \equiv 1 \pmod{\Phi_n(q)}, \quad (2.5)$$

we are led to (2.1). \square

Lemma 2.2. *Let $n > 1$ be a positive odd integer. Then, for $k = 1, 2, \dots, n-1$, we have*

$$\frac{(q; q^2)_k (q^{n+2}; q^2)_{k-1}^2}{(q; q)_k^2 (q^{n+1}; q)_{k-1}} \equiv \left[\frac{2k}{k} \right] \frac{(-q^{n+1}; q)_{k-1}}{1 - q^{2k}} \pmod{\Phi_n(q)^2}. \quad (2.6)$$

Proof. For any integer j , we have

$$(1 - q^{n+2j})^2 - (1 - q^{2j})(1 - q^{2n+2j}) = q^{2j}(1 - q^n)^2 \equiv 0 \pmod{\Phi_n(q)^2},$$

and so

$$\begin{aligned} (q^{n+2}; q^2)_{k-1}^2 &= \prod_{j=1}^{k-1} (1 - q^{n+2j})^2 \\ &\equiv \prod_{j=1}^{k-1} (1 - q^{2j})(1 - q^{2n+2j}) = (q^2; q^2)_{k-1} (q^{2n+2}; q^2)_{k-1} \pmod{\Phi_n(q)^2}. \end{aligned} \quad (2.7)$$

For $k = 1, 2, \dots, n-1$, both $(q; q)_k$ and $(q^{n+1}; q)_{k-1}$ are relatively prime to $\Phi_n(q)$. From (2.7) we deduce that

$$\frac{(q; q^2)_k (q^{n+2}; q^2)_{k-1}^2}{(q; q)_k^2 (q^{n+1}; q)_{k-1}} \equiv \frac{(q; q^2)_k (q^2; q^2)_{k-1} (-q^{n+1}; q)_{k-1}}{(q; q)_k^2} = \left[\frac{2k}{k} \right] \frac{(-q^{n+1}; q)_{k-1}}{1 - q^{2k}} \pmod{\Phi_n(q)^2}.$$

\square

3. Proof of Theorem 1.1

We introduce the following two rational functions in q :

$$\begin{aligned} F(n, k) &= (-1)^n [3n + 2k + 1] \frac{(q; q^2)_n (q^{2k+1}; q^2)_n^2 (q; q^2)_k}{(q; q)_n^2 (q^{2k+1}; q)_n (q^2; q^2)_k}, \\ G(n, k) &= (-1)^n q^{n+2k-1} \frac{(q; q^2)_n (q^{2k+1}; q^2)_{n-1}^2 (q; q^2)_k}{(1 - q)(q; q)_{n-1}^2 (q^{2k+1}; q)_{n-1} (q^2; q^2)_k}, \end{aligned}$$

where we use the convention that $1/(q^2; q^2)_m = 0$ for any negative integer m . We can check that $F(n, k)$ and $G(n, k)$ satisfy the relation

$$F(n, k-1) - F(n, k) = G(n+1, k) - G(n, k). \quad (3.1)$$

Namely, they form a q -WZ pair. Note that, for $q = 1$, these functions are just the WZ pair given by Guillera and Zudilin [2] in their proof of (1.1).

Let $m > 1$ be a positive odd integer. Summing (3.1) over $n = 0, 1, \dots, m-1$, we obtain

$$\sum_{n=0}^{m-1} F(n, k-1) - \sum_{n=0}^{m-1} F(n, k) = G(m, k), \quad (3.2)$$

where we have used $G(0, k) = 0$. Summing (3.2) further over $k = 1, 2, \dots, \frac{m-1}{2}$, we get

$$\sum_{n=0}^{m-1} F(n, 0) = \sum_{n=0}^{m-1} F\left(n, \frac{m-1}{2}\right) + \sum_{k=1}^{\frac{m-1}{2}} G(m, k). \quad (3.3)$$

By (1.7) and noticing that $[m]$ is divisible by $\Phi_m(q)$ for $m > 1$, we have

$$\sum_{n=0}^{m-1} F(n, 0) = \sum_{n=0}^{m-1} (-1)^n [3n+1] \frac{(q; q^2)_n^3}{(q; q)_n^3} \equiv (-1)^{\frac{m-1}{2}} [m] q^{\frac{(m-1)^2}{4}} \pmod{\Phi_m(q)^3}. \quad (3.4)$$

Applying the relations $(q^{2k+1}; q^2)_{m-1} = (q; q^2)_m (q^{2m+1}; q^2)_{k-1} / (q; q^2)_k$ and $(q^{2k+1}; q)_{m-1} = (1-q)(q; q)_{m-1} [m] (q^{m+1}; q)_{2k-1} / (q; q)_{2k}$, we get

$$\begin{aligned} G(m, k) &= \frac{(-1)^m q^{m+2k-1} (q^{2m+1}; q^2)_{k-1}^2 (q; q)_{2k}}{(1-q)^2 (q; q^2)_k (q^{m+1}; q)_{2k-1} (q^2; q^2)_k} \cdot \frac{(q; q^2)_m^3}{[m] (q; q)_{m-1}^3} \\ &= -\frac{q^{m+2k-1} (q^{2m+1}; q^2)_{k-1}^2 (q; q^2)_m^3}{(1-q)^2 (q^{m+1}; q)_{2k-1} [m] (q; q)_{m-1}^3}. \end{aligned}$$

Since $(q; q^2)_m$ has the factor $1 - q^m$ and is therefore divisible by $\Phi_m(q)$, we see that

$$\frac{(q; q^2)_m^3}{[m] (q; q)_{m-1}^3} \equiv 0 \pmod{\Phi_m(q)^2}.$$

Thus, using the relation $q^{2m} \equiv q^m \equiv 1 \pmod{\Phi_m(q)}$, we obtain

$$G(m, k) \equiv -\frac{q^{2k-1} (q; q^2)_{k-1}^2 (q; q^2)_m^3}{(1-q)^2 (q; q)_{2k-1} [m] (q; q)_{m-1}^3} \pmod{\Phi_m(q)^3},$$

where the congruence is valid for $k = 1, 2, \dots, \frac{m-1}{2}$. It follows that

$$\begin{aligned} \sum_{k=1}^{\frac{m-1}{2}} G(m, k) &\equiv -\frac{(q; q^2)_m^3}{[m] (q; q)_{m-1}^3} \sum_{k=1}^{\frac{m-1}{2}} \frac{q^{2k-1} (q; q^2)_{k-1}^2}{(1-q)^2 (q; q)_{2k-1}} \\ &= -\frac{[m]^2}{(-q; q)_{m-1}^3} \left[\frac{2m-1}{m-1} \right]^3 \sum_{k=1}^{\frac{m-1}{2}} \frac{q^{2k-1}}{[2k-1] (-q; q)_{k-1}^2} \left[\frac{2k-2}{k-1} \right] \pmod{\Phi_m(q)^3}. \end{aligned}$$

Noticing that $(-q; q)_{m-1}$ is relatively prime to $[m]$, we can use $\begin{bmatrix} 2m-1 \\ m-1 \end{bmatrix} \equiv 1 \pmod{\Phi_m(q)}$, (2.1), and (2.5) to obtain

$$\sum_{k=1}^{\frac{m-1}{2}} G(m, k) \equiv (-1)^{\frac{m-1}{2}} [m] \left((-q; q)_{m-1} q^{-\frac{(m-1)(m-3)}{4}} - q^{\frac{(m-1)(m+3)}{4}} \right) q \pmod{\Phi_m(q)^3}. \quad (3.5)$$

On the other hand, by (2.4) we have

$$F\left(0, \frac{m-1}{2}\right) = [m] \frac{(q; q^2)_{\frac{m-1}{2}}}{(q^2; q^2)_{\frac{m-1}{2}}} \equiv (-1)^{\frac{m-1}{2}} q^{\frac{1-m^2}{4}} [m] (-q; q)_{m-1} \pmod{\Phi_m(q)^3}. \quad (3.6)$$

Moreover, by (2.4) and (2.6), for $1 \leq n \leq m-1$,

$$\begin{aligned} F\left(n, \frac{m-1}{2}\right) &= (-1)^n [3n+m] \frac{(q; q^2)_n (q^m; q^2)_n^2 (q; q^2)_{\frac{m-1}{2}}}{(q; q)_n^2 (q^m; q)_n (q^2; q^2)_{\frac{m-1}{2}}} \\ &= (-1)^n [3n+m] \frac{(1-q)(q; q^2)_n (q^{m+2}; q^2)_{n-1}^2}{(q; q)_n^2 (q^{m+1}; q)_{n-1}} \cdot [m] \frac{(q; q^2)_{\frac{m-1}{2}}}{(q^2; q^2)_{\frac{m-1}{2}}} \\ &\equiv (-1)^n [3n+m] \frac{(-q^{m+1}; q)_{n-1}}{[2n]} \begin{bmatrix} 2n \\ n \end{bmatrix} \\ &\quad \times (-1)^{\frac{m-1}{2}} q^{\frac{1-m^2}{4}} [m] (-q; q)_{m-1} \pmod{\Phi_m(q)^3}. \end{aligned} \quad (3.7)$$

Substituting (3.4)–(3.7) into (3.3), we are led to

$$\begin{aligned} &(-1)^{\frac{m-1}{2}} [m] q^{\frac{(m-1)^2}{4}} \\ &\equiv (-1)^{\frac{m-1}{2}} q^{\frac{1-m^2}{4}} [m] (-q; q)_{m-1} \\ &\quad + (-1)^{\frac{m-1}{2}} q^{\frac{1-m^2}{4}} [m] (-q; q)_{m-1} \sum_{n=1}^{m-1} (-1)^n [3n+m] \frac{(-q^{m+1}; q)_{n-1}}{[2n]} \begin{bmatrix} 2n \\ n \end{bmatrix} \\ &\quad + (-1)^{\frac{m-1}{2}} [m] \left((-q; q)_{m-1} q^{-\frac{(m-1)(m-3)}{4}} - q^{\frac{(m-1)(m+3)}{4}} \right) q \pmod{\Phi_m(q)^3}. \end{aligned}$$

It follows that

$$\begin{aligned} &\sum_{n=1}^{m-1} (-1)^n [3n+m] \frac{(-q^{m+1}; q)_{n-1}}{[2n]} \begin{bmatrix} 2n \\ n \end{bmatrix} \\ &\equiv \frac{q^{\frac{(m-1)^2}{4}} - q^{\frac{1-m^2}{4}} (-q; q)_{m-1} + q^{\frac{(m-1)(m+3)}{4}+1} - (-q; q)_{m-1} q^{1-\frac{(m-1)(m-3)}{4}}}{q^{\frac{1-m^2}{4}} (-q; q)_{m-1}} \\ &= \frac{(1+q^m)(q^{\binom{m}{2}} - (-q; q)_{m-1})}{(-q; q)_{m-1}} \pmod{\Phi_m(q)^2}. \end{aligned} \quad (3.8)$$

Since $q^m \equiv 1 \pmod{\Phi_m(q)}$ and $q^{\binom{m}{2}} - (-q; q)_{m-1} \equiv 1 - (-q; q)_{m-1} \equiv 0 \pmod{\Phi_m(q)}$, we see that the right-hand side of (3.8) can be simplified as $2(q^{\binom{m}{2}} - (-q; q)_{m-1})$. Finally, for $m = 1$, each side of (3.8) is equal to 0 and the congruence still holds. \square

Remark. The author [4] proved (1.7) by the following q -WZ pair:

$$F(n, k) = (-1)^n [3n - 2k + 1] \begin{bmatrix} 2n - 2k \\ n \end{bmatrix} \frac{(q; q^2)_n (q; q^2)_{n-k}}{(q; q)_n (q^2; q^2)_{n-k}},$$

$$G(n, k) = (-1)^{n+1} [n] \begin{bmatrix} 2n - 2k \\ n - 1 \end{bmatrix} \frac{(q; q^2)_n (q; q^2)_{n-k} q^{n+1-2k}}{(q; q)_n (q^2; q^2)_{n-k}},$$

which is a q -analogue of the WZ pair given by He in his proof of [7, Theorem 1.1].

4. Proof of Theorem 1.2

When $n = 1$, both sides of (1.6) are equal to 1. For $n > 1$, let $\zeta \neq 1$ be an n -th root of unity (not necessarily primitive). In other words, ζ is a primitive root of unity of odd degree $d \mid n$. Let $c_q(k)$ stand for the k -th term on the left-hand side of (1.6), i.e.,

$$c_q(k) = (-1)^k [3k + 1] \frac{(q; q^2)_k^3}{(q; q)_k^3} = (-1)^k \frac{[3k + 1]}{(-q; q)_k^3} \begin{bmatrix} 2k \\ k \end{bmatrix}^3.$$

Since $(q; q^2)_k \equiv 0 \pmod{\Phi_n(q)}$ for $\frac{n+1}{2} \leq k \leq n-1$, from (1.7) we deduce that

$$\sum_{k=0}^{\frac{n-1}{2}} (-1)^k [3k + 1] \frac{(q; q^2)_k^3}{(q; q)_k^3} \equiv \sum_{k=0}^{n-1} (-1)^k [3k + 1] \frac{(q; q^2)_k^3}{(q; q)_k^3} \equiv (-1)^{\frac{n-1}{2}} [n] q^{\frac{(n-1)^2}{4}} \pmod{\Phi_n(q)^3}. \quad (4.1)$$

These two congruences with $n = d$ imply that

$$\sum_{k=0}^{\frac{d-1}{2}} c_\zeta(k) = \sum_{k=0}^{d-1} c_\zeta(k) = 0.$$

Noticing that

$$\frac{c_\zeta(\ell d + k)}{c_\zeta(\ell d)} = \lim_{q \rightarrow \zeta} \frac{c_q(\ell d + k)}{c_q(\ell d)} = c_\zeta(k),$$

we have

$$\sum_{k=0}^{\frac{n-1}{2}} c_\zeta(k) = \sum_{\ell=0}^{\frac{1}{2}(\frac{n}{d}-3)} c_\zeta(\ell d) \sum_{k=0}^{d-1} c_\zeta(k) + \sum_{k=0}^{\frac{d-1}{2}} c_\zeta\left(\frac{n-d}{2} + k\right) = 0,$$

which means that the sum $\sum_{k=0}^{\frac{n-1}{2}} c_q(k)$ is divisible by the cyclotomic polynomial $\Phi_d(q)$. Since this is true for any divisor $d > 1$ of n , we conclude that this sum is divisible by

$$\prod_{d \mid n, d > 1} \Phi_d(q) = [n].$$

Namely, we have the following congruence:

$$\sum_{k=0}^{\frac{n-1}{2}} (-1)^k [3k+1] \frac{(q; q^2)_k^3}{(q; q)_k^3} \equiv (-1)^{\frac{n-1}{2}} [n] q^{\frac{(n-1)^2}{4}} \pmod{[n]}. \quad (4.2)$$

Combining (4.1) and (4.2), we complete the proof of (1.6). \square

Acknowledgments. The author thanks the two anonymous referees for helpful comments on a previous version of this paper. This work was partially supported by the National Natural Science Foundation of China (grant 11771175).

References

- [1] G. Gasper, M. Rahman, Basic hypergeometric series, Second Edition, Encyclopedia of Mathematics and Its Applications, Vol. 96, Cambridge University Press, Cambridge, 2004.
- [2] J. Guillera, W. Zudilin, “Divergent” Ramanujan-type supercongruences, Proc. Amer. Math. Soc. 140 (2012), 765–777.
- [3] V.J.W. Guo, A q -analogue of a Ramanujan-type supercongruence involving central binomial coefficients, J. Math. Anal. Appl. 458 (2018), 590–600.
- [4] V.J.W. Guo, q -Analogues of two “divergent” Ramanujan-type supercongruences, preprint, arXiv:1802.01260 [math.NT], February 2018.
- [5] V.J.W. Guo, S.-D. Wang, Some congruences involving fourth powers of central q -binomial coefficients, Proc. Roy. Soc. Edinburgh Sect. A, to appear.
- [6] V.J.W. Guo, W. Zudilin, A q -microscope for supercongruences, preprint, March 2018; arXiv:1803.01830.
- [7] B. He, Some congruences on conjectures of van Hamme, J. Number Theory 166 (2016), 406–414.
- [8] J. Liu, H. Pan, Y. Zhang, A generalization of Morley’s congruence, Adv. Differ. Equ. (2015) 2015:254.
- [9] M. Mohammed, The q -Markov–WZ method, Ann. Comb. 9 (2005), 205–221.
- [10] L.-L. Shi, H. Pan, A q -analogue of Wolstenholme’s harmonic series congruence, Amer. Math. Monthly 114 (2005), 529–531.
- [11] Z.-W. Sun, R. Tauraso, New congruences for central binomial coefficients, Adv. Appl. Math. 45 (2010), 125–148.
- [12] R. Tauraso, Some q -analogs of congruences for central binomial sums, Colloq. Math. 133 (2013), 133–143.
- [13] H.S. Wilf, D. Zeilberger, An algorithmic proof theory for hypergeometric (ordinary and “ q ”) multisum/integral identities, Invent. Math. 108 (1992), 575–633.
- [14] H.S. Wilf, D. Zeilberger, Rational function certification of multisum/integral/“ q ” identities, Bull. Amer. Math. Soc. (N.S.), 27 (1992), 148–153.
- [15] D. Zeilberger, Closed form (pun intended!), Contemp. Math. 143 (1993), 579–607.